[ 2% > A . > =
) 36 ERREETERAS BB RS R 20184

5120 (+)

LRI | i T Rk, 2 | 3] 4]l 5]6 ] 7]% 1A | Bk A7 7 B2 2 | 31 456 | 7]z
2 T | ol olo|lo]loflo]o 10 | #ik BT ol oflo|l o] ol o] o
1 wZs) | ARAF —RF—EZ 0 0 0 0 2 X 2 9 S 2= N— R 0 0 0 1 2 X 3

L G ERERG 2 3 4 5 6 7| E FlalEE | Bk AN 7 R2H 2 3 4 5 6 7 | 2
3 BE BERYLTFT—X 0 2 0 0 0 5 11 T4 LAY —RX 0 1 0 0 1 2
4 RS INAH— R 1 0 3 0 0 4 12 | #hz)l WERIZ7 2 0 0 0 X 3

BiaE | M A7 TR 2 3 4 5 6 7| 3 FElmEk | koK) 7R3 2 3 4 5 6 7| 3
6 A FH— 2 0 0 0 0 0 0 0 13| Ak T f— 0 1 0 0 0 1
5 | whz)l REIETAKA 0 0 0 0 1 0 2 14 | Fg |Faxdv~ror-srresx 0 0 0 1| 1x 2

FEiEE | M A7 TR 2 3 4 5 6 7| E B | gk 7R3 2 3 4 5 6 7 | 2
7 T V7o av 0 0 0 0 0 0 0 15 BE BOOOOON 0 0 2 0 3 0 6
8 RS HifERERIT7T 0 0 3 0 0 X 5 16 THE SRR —T A 0 0 0 0 0 0 0

cB2lEli | Ak T RERYS 2 | 3] 4[5 |6 [ 7|37 EEoMmk [ Bk A1 F > 2 2 | 31 4151 6 7 [ar
3 BE BtRYTF—X 0 0 0 0 0 1 1 12 | #&)l IWEmIZ7 0 0 0 0 0 0 0
1| &) | ARAF—F—E X 1 0 0 0 1 X | 2 9 e L= N— R 0 0 1 0 0 | X 1

2N | B/ AN Z Rk 2 | 3| 45| 6 | 7| & Saolalil | Bk A7 Z L R3E 2 | 3 a5 167 [&t
8 i HitGRLirro7 0 1 1 1 0 3 6 15| ®=E BOOOOON 1 0 0 3 0 4
5 |tz FEIETAKA 0 0 0 0 0 0 0 14| BEIT |FaEsv~iok ArvEr 0 0 0 2 0 2
5A13H(H)

HETR IR HiAE T RERS 2 3 4 5 6 7 | B i HiE T R EK 2 3 4 5 6 7|
9 S 2= N— R 0 2 0 0 0 0 2 8 S G L7277 0 3 1 0 1 3 8
15 %BE BOOOOON 2 0 0 0 0| x| 5 15| #=E BOOOOON 0 0 1 0 0 0 1

R (A7 Z R 2 3 4 5 6 7 | &t
8 B HifER L/ T7 T 1 0 0 0 0 0 1
1 &) | ARAA—R Y —E % 0 0 0 0 0 0 0




